goddoooooooooooon

MT SERIES HSS-CO SPIRAL FLUTED TAP
MTOODOO DO0DOO0o0oobooog

WEBOO OO 40 000!

MTO SPFT

Lcf

—

Lc |
L1

Lk

0o 0o 0
oomssoscOoO OO0mscMO |00 O45HRCO(00O0 M 50HRCO 0|00 D SKDO SKSO| 00000 D sUsSO| O D FCOFCDO oom A0 M cud
0 ] ] O o O 0 ]
0Do0o000D0o OO
oo MTO SPFT (aosco
ooooo
oo oo oo oo ooo ooo ooooo oo ooooo oooo 3000000000
Mx P Lcf L Lc L1 Lk K 1040 50 290

M2 0.4 2.5P LM1 40 9.5 15 3 2 5 25 940 660
M2.5 0.45 2.5P LM1 44 915 16 3 2 5 255 820 580
M2.6 0.45 2.5P LM1 44 9.5 16 3 2 5 2.5 770 540
M3 0.5 2.5P LM2 46 ALl 18 4 3 6 3.2 650 460
M4 0.7 2.5P LM2 52 13 20 5 3 7 4 640 450
M5 0.8 2.5P LM2 60 16 25 55 3 7 4.5 650 460
M6 1 2.5P LM2 62 19 28 6 3 7 4.5 670 470
M8 1.25 2.5P LM2 70 22 35 6.2 3 8 5 870 610
M8 1 2.5P LM2 70 22 35 6.2 3 8 5 1,020 720
M10 L35 2.5P LM2 75 24 39 7 3 8 55 1,050 740
M10 1.25 2.5P LM2 75 24 39 7 3 8 55 1,050 740
M12 1.75 2.5P LM2 82 29; 42 8.5 3 9 6.5 1,370 960
M12 15 2.5P LM2 82 29 42 8.5 3 9 6.5 1,370 960
M12 1.25 2.5P LM2 82 29 42 8.5 3 g 6.5 1,370 960
M14 2 2.5P LM2 88 30 46 10.5 3 11 8 1,570 1,380
Mi14 L5 2.5P LM2 88 30 46 10.5 3 11 8 1,570 1,380
M16 2 2.5P LM2 95 32 50 125 3 13 10 2,030 1,780
M16 95| 2.5P LM2 95 32 50 125 3 13 10 2,030 1,780
M20 25 2.5P LM3 105 37 56 15 4 15 12 3,320 2,900
M24 & 2.5P LM3 120 45 72 19 4 18 15 5,360 4,700

[QlV:iauluialulals]a]ulu|a]s]s]a]a]s]
®UOO000000LMOOOO0O000000000@MerP.1197MO0000000

(7% order MIT[] §PFT 0 MSD‘ 050 2.§P
@) | sz ms

V.7 527,

Delivery E BE00-3
Detvery (| =i

00 Mx PO 0 [0 LefO

@DDDDDDPMGDOODDDDDDDDDDDDD

0000 0REP.1196
0000 0REP.1197

e 0 00DDOODDDDOIOOODDOOOOOODOIDOODODOOODOODOOOOOOOD
e JO000O0O0OOOOOODDOOOOOOOCOOODOOOOOOOOOOOOOOBOCOODO

ADOOO0OOO O0OOOOOOO A-SFT

A00O0OO0O00000o00

oooo

e J00O0ODDOMmMICOODO.25%00 M 000MICOOM0O0.2500.45%1

000 COO000.45%0 00 M00SCMIOD000 O] SUS

00250 35HRCI 0 0 1 350 45HRCI 0 0 [ 450 55HRCL
00000 mMALDODO00 O D 00 ACIADCO

oooo

e JO0O0OODODODO

L

e 1000000V OOOOOOOM
e NO0Me mM45°0e 0 OO25P0e O OOOOOMO

1000 ) ®oooomoooioooXdo 00010000000 Ox 00000

3

1
WEB
00000 @9 P.1199
(u]

oo oo |oog |BER|O0E) B0 000 g pog oo oo |oog |900|00E) B0 000 hnpog
Al SFT0 M2X0.40 OHL5 M2 | 04 | 32 | 10 | 40 | 3 | 2400 AJSFILMIL2XL./5]0H4 | Mi12|1.75| 21 | 48 | 82 | 85 | 3,350
A SFTO M2.5X0.450 OH2 M25]/045| 3.6 | 13 | 44 3 2,010 AO SFTO M12X1.50 OH3 M12| 15 | 18 | 48 | 82 | 85 | 3,350
AJSFTLUM2.6X0.4500H2 _|M2.6]0.45] 3.6 | 13 | 44 | 3 | 1,880 ALSFTLMIL2X1.25]0H3 _ |M12]1.25| 18 | 48 | 82 | 8.5 | 3,350
AL SFTO M3X0.500 OH2 M3 | 0.5 4 19 | 46 4 1,600 AL SFTO M12X10 OH3 M12| 1 18 | 48 | 82 | 85 | 3,720
AL SFTO M4X0.70 OH3 M4 | 07 | 56 | 21 | 52 | 5 | 1570 ALSFILM14X2OH4 M14| 2 | 24 | 48 | 88 |10.5| 4,770
AL SFTO M4X0.500 OH2 M4 | 05 | 56 | 21 | 52 5 1,960 AD SFTO M14X1.50 OH3 M14| 15 | 18 | 48 | 88 |10.5]| 4,770
AL SFTO M5X0.80 OH3 M5 | 0.8 | 6.4 | 24 | 60 | 55 | 1590  ALSFTLM16X2] OH4 M16| 2 | 24 | 52 | 95 |12.5] 6,160
AL SFTO M5X0.500 OH2 M5 | 05 | 64 | 24 | 60 | 55 | 2,040 AL SFTO M16X1.50 OH3 M16| 15 | 18 52 | 95 |125] 6,160
AL SFTO M6X1[0 OH3 M6 1 8 29 | 62 6 1,640 AL SFT M18X2.500 OH5 M18| 25 | 30 | 55 | 100 | 14 | 8,070
AL SFTO M6X0.750 OH2 M6 |0.75| 8 29 | 62 6 2,040 AL SFTO M18X1.50 OH4 M18| 15 | 24 | 55 | 100 | 14 | 8,070
AL SFTO M6X0.500 OH2 M6 | 0.5 8 29 | 62 6 2,270 AL SFTO M20X2.50 OH5 M20| 25 | 30 | 58 | 105 | 15 |10,070
AL SFTO M8X1.2500 OH3 M8 |1.25| 15 | 37 | 70 | 6.2 | 2,130 AL SFT M20X1.50 OH4 M20| 15 | 24 | 58 | 105 | 15 | 10,070
AL SFTO M8X1[0 OH3 M8 1 12 | 37 | 70 | 6.2 | 2,500 AL SFTO M22X2.50 OH5 M22| 25 | 30 63 | 115 | 17 |12,870
AL SFTO M10X1.50 OH3 M10| 15| 18 | 41 | 75 7 2,570 AL SFTO M22X1.50 OH4 M22| 15 | 24 | 63 | 115 | 17 | 12870
AL SFTO M10X1.2501 OH3 M10|1.25| 15 | 41 | 75 7 2,570 AL SFTO M24X30 OH5 M24| 3 36 66 | 120 | 19 | 16,270
AL SFTO M10X10 OH3 M10| 1 15 | 41 | 75 7 3,050 AL SFTO M24X1.50 OH4 M24| 15 | 24 | 66 | 120 | 19 | 16,270

0000000000000 DOD000000
VONAD D 0Oooooodd0120-343-256

OlPOO000OO0OOOOeEO0-7

eJ00DMOOOOOPMEIOODOOOONOOOOOOOOODO
e J0000MODODOO0O0MODOOO0O0O00DO0DOD00DODOODO0O0O

OOoodoood

oooooo

ooooo
ooo

oooa

1084





